A& O & AP & Al A
2016 & =0 & JIEHS 3| H
T 200 AISI4 Y
B 210 FAFN AL
8 214 A4l (S5 & 9)
X.o@-g-2 0l & =0 o HDE2
z 7 33,500,099 30,167,812 3,332,287
200 Al 2l 4 216,400 315,083 £.98,683
210 ZAT AL+ 56,400 180,083 £ 123,683
214 A4 5,000 7,000 £2,000
214-02 FX234¢ 5,000 7,000 A2,000
[ =xEsgs | 5,000 7,000 £2,000
<AEDED > 5,000 7,000 £2,000
ORE ZYFNE F23 5,000,000 5,000
216 01 Xt & 51,400 173,083 A 121,683
216-01 BB S0/ X4 46,400 73,083 £126,683
[ SHAFHNANAANSSE SN ] 8,000 8,000 0
<AHEDED > 8,000 8,000 0
O0IR 42 8,000,000 8,000
[ ZYHLALSES | 38,000 38,000 0
<ZHB > 9,000 9,000 0
O0IR 42 9,000,000 9,000
<EAD > 29,000 29,000 0
OBTZUS0IX 4+ 29,000,000 29,000
[ =xEsEs | 300 100 200
<AHEDED > 300 100 200
O0IR 42 300,000 300
P EET I ENELWER-NEEE D 100 100 0
<EAD > 100 100 0
OBB0I20I X 100,000 100
216-02 BI2HE 25140/ K42 5,000 0 5,000
[ SHAZHNANAAAS LS ] 5,000 0 5,000
<ALDSH > 5,000 0 5,000
00X +2 5,000,000 5,000
220 4 Al KIS 4 160,000 135,000 25,000
223 BHSLVEHES 100,000 95,000 5,000
223-03 HEHE 100,000 95,000 5,000
[ =xEsEs | 100,000 95,000 5,000
<AHEDED > 100,000 95,000 5,000
OFFAAVDEE 100,000,000 100,000
225 XILiol 49 60,000 40,000 20,000




g 200 Mel+=¢
2 220 AN
gt 225 XA &9 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
225-01 AZtAE =g 60,000 40,000 20,000
[ =XUHESEEIA ] 60,000 40,000 20,000
<ALDSH > 60,000 40,000 20,000
OXittE=+=¢ 60,000,000 60,000
500 EX3 26,299,482 22,537,752 3,761,730
510 = D2 X=S 26,256,049 22,500,912 3,755,137
511 =08 x38 26,256,049 22,500,912 3,755,137
511-01 = 1ExS 167,664 150,000 17,664
[ d=220II2 LA ] 167,664 150,000 17,664
<YFNA > 167,664 150,000 17,664
Oz =02l At 21| 48,000,000 48,000
OANZ A2 S0HAIY #ZHl XA 9,200,000 9,200
Ofz=s0 =883 X 110,224,000 110,224
O2dz=s0 == 240,000 240
511-02 XIS LHSEIHNEEXS 6,000,000 2,785,000 3,215,000
[ =Z2HESEEA ] 6,000,000 2,785,000 3,215,000
< > 6,000,000 2,785,000 3,215,000
Ogdd dHsod S MY 6,000,000, 000 6,000,000
511-03 J1= 20,088,385 19,565,912 522,473
[ YHL=HIAXNIAMLSELS A ] 481,800 482,600 A 800
<ALDSH > 481,800 482,600 2800
OFEL+=LIA XIES 167,800,000 167,800
OFE"LAA XES 314,000,000 314,000
[ 2L sE3H ] 19,606,585 19,083,312 523,273
<EEL > 19,606,585 19,083,312 523,273
OZII=ANE 29 3,859,035
—33ot=HelAd 29 3,024,624,000 3,024,624
— 272 B3otrHelAE 29 121,257,000 121,257
—2xXM2dAE 2 713,154,000 713,154
OZII=AE &X 5,795,000
—JtEsgE &g 2,512,000,000 2,512,000
—Bel2=33XMaAE 42,000,000 42,000
—0tg AR23 3ot AL 41,000,000 41,000
—d= ARZ233oteXelAlE 623,000,000 623,000




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
—otg - Fgxd2H 1,974,000, 000 1,974,000
— SHot=2H0ZHl ALY 579,000,000 579,000
— & o= FBIAE 24,000,000 24,000
OFZI=AE EX(HA) 1,099,305
—33ot=HelAld =& (OrE 2 6JHA) 931,569,000 931,569
— 2SS XMaAE 10,682,000 10,682
— 2 E233otrHeAE U (0132 81 )
157,054,000 157,054
OF2UXH A 3,652,926,000 3,652,926
OHEERE 2l MY 47,500,000 47,500
OR+=FUXN AL (HSIHZANAZSE) 585,000,000 595,000
Ogdd dHoE S MY 4,200,000,000 4,200,000
OFoUXNHAEEIN & BE 28 XN& 24,361,000 24,361
O)=R:R-—= SLFCIPNg= 125,458
—HE/AZAE 2ULHEH S 68,458,000 68,458
—O|HHEIIH = 57,000,000 57,000
OHIBE M AL 28,000
—=Z 2 (A BSA) 28,000,000 28,000
OzaZdseg Il JIgtAld &X 180,000,000 180,000
520 Al - SHIEXZ=S 43,433 36,840 6,593
521 Al - EHIEEXS S 43,433 36,840 6,593
521-01 Al - THIEXZ2S 43,433 36,840 6,593
[ A=2SHIISELSA ] 43,433 36,840 6,593
<3Y=ENA > 43,433 36,840 6,593
O2z=0{ 2l At 21AHl K& 9,600,000 9,600
Q20169 &= 2= 22lAb 1l (=Hl) 9,000,000 9,000
OANlZ A=2=S0AIY #EHl X 1,840,000 1,840
OANZ 230 AISY SFHIXR (=) 900,000 900
Ofzs0 =283 XN& 22,045,000 22,045
O2zs0 == 48,000 48
700 EX =L SHUENH 6,984,217 7,314,977 A 330,760
710 284S 2,185,217 4,186,912 A~2,031,695
711 A= 2,145,217 4,136,912 A 1,991,695
711-01 =MAL 02 2,145,217 4,136,912 A~ 1,991,695
[ SHLAFHISXNIAMLSSLEI A ] 431,223 266,622 164,601




T 700 BESASHURAY
2710 2H4+YS
g 711 203 (SHeada)
g-2-g-5 Ol & 4 & E = Off AU Husz
<CALWEY > 431,223 266,622 164,601
Oz=MAL0Z 431,223,000 431,223
[ SLNLALSLIA ] 311,387 340,000 ~28,613
<MD > 311,387 340,000 ~28,613
Oz=AMA 2013 311,387,000 311,387
[ RSN ] 98,000 97,005 995
<AHDED > 98,000 97,005 995
Oz=MAL03 98,000,000 98,000
[ +ZHASEIA ] 1,303,607 2,335,000 ~ 1,031,393
<AL > 1,303,607 2,335,000 ~ 1,031,393
Oz=MAL02 1,303,607,000 1,303,607
[ ZIIDITHCAHANLSUHR ZABASEEA ] 1,000 1,000 0
< SAD > 1,000 1,000 0
Oz=MAL02 1,000,000 1,000
713 X334+ 10,000 50,000 £40,000
713-01 QA B384 10,000 50,000 ~40,000
[ ZHAFBX AT AL SLEH ] 10,000 50,000 £.40,000
<ALDED > 10,000 50,000 ~40,000
O8Xa 3=+ 10,000,000 10,000
720 LH= Ot e 4,829,000 3,128,065 1,700,935
721 B3 4,829,000 3,128,065 1,700,935
721-03 JIEtSI H T L 3 4,829,000 3,128,065 1,700,935
[ 2203 SLaH ] 658,559 617,696 40,863
<slg=sxa > 658,559 617,696 40,863
Ot MY (ABSHR2IAF £ XI¥) 24,000,000 24,000
OYersl} A3 (BXAMY 2€3) 634,559,000 634,559
[ RSN ] 202,000 50,000 152,000
<CALWEY > 202,000 50,000 152,000
ORolex CCTV X ¥ X8 CCTV &3 82,000,000 82,000
OHEe g7 SSFXNY ZLESA 120,000,000 120,000
[ *ZHASLIA ] 3,539,038 2,060,369 1,478,669
<AL > 3,539,038 2,060,369 1,478,669
OLBFANNL S (+E2SSL 2201 BIIEA) 3,000,000 3,000
OLPHS| HHUS(LEE MEISHE =SRAA)  1,800,000,000 1,800,000
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